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economy of environment by Robert Boyce. Discuss

his contention of that though high inequality of wealth

and power affects the rich and poor very differently,

yet its impact on the environmental time preference is

in similar direction.
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Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Part A (Answer any one) (15 marks)
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I . Write a long note on any one of the following :

(a) The theory of Global Value Chain governance

(b) The neoconservative turn of the neoliberal states -
a causal analysis

(c) Gender and cooperative conflict

(d) Financialization, shifts in the ideology and practice

of corporate governance pattern and managerial

culture
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Analyse how gender has been a crucial dimension

both in the construction of new spaces of production

(eg. SEZs) and in the new patterns of spatial mobility

of labour (migration) under globalisation.
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Explain the concept "power weighted social decision

rule" in the context of the discussion on the political
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Discuss the tensions and contradictions inherent in

the theory and practices of the neoliberal state. To

what extent do these. contradictions arise out of a

disparity between the declared aims of neoliberalism

and its actual motives and consequences?
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Using the evidence from any two countries, analyse,

how the adoption of neoliberal practice has depended

on a complex interplay of internal dynamics and

external forces. Do you think that the changes in

internal balance of class forces play an important role

in this context?
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Part B (Answer any three) (20 marks each)
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Discuss the crucial shifts in the sphere of production,

consumption and spatial organisation of economic

activities in the transition from Fordism to post-

Fordism. Explain how the term "flexibility" can be
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interpreted in normatively opposite ways in the context

of post-Fordist production and labour processes.
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3. How have multinational corporations (MNCs) evolved

within the structure of capitalist production? Explain

how its multidivisional and multi-country operations

innovations and as well as increasing the life cycle of

the old products.
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Is informal employment a by-product of

underdevelopment and can it be adequately studied

through dualistic models? Discuss with reference to

the different dimensions of informalisation under

globalisation.
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